Physical Science (PSC 102) Fall 18 Dr. Hahn MWF 9 am Quiz IV form A 10/17 W Exam #

Name k e/(.\, Name

Sign l J Print (bc I can’t read your signatures)

Please show work for full credit and partial credit on all questions 3\(— ee K d /7‘{ - ‘!i ’i
1. a. 1l mole of Ca = é&o. Oﬂbgrams (2 pts) ; /?,
b. ImoleofCaCly = I 0 Ci? grams show work (2 pts) — [{/ ( U ¢ W Vq

40,08 + 22,5, 45) =

c. What is the molarity of a solution made by dissolvmg 0.5 moles of Na Cl in water to make up
1.5 Liters of the salt solution ? (Molarity = moles solute / liters of solution) (2 pts)

,,7,!—‘:-:-”_-‘—‘

Mo OSpel o 03y m (et 3

2. Fill in the blamé to match the structure & name. (A) alkyne (B) benzene (C) Alkane (D) alkene
(8 pts, 2 pts each blank)

H~§—§-—H C mccwu_f{ @ Vs >2—c\{

3. Draw the structure of 1,3- difluorobenzene (F submtutuent is flouro) (Gpts)

-~y T G LG

4, Show one constitutional isomer of the following molecule (3 pts) H\C/ r/T
i i —C— C-m
H—C*(?-SAE %—(}E‘—H 6 carbon molecule = C" C-—_' C’ ]
i I VA /+
Gr-12)

Show the product of the following reaction.

Extra Credit (4 pts)

(et 4

[+ L
H i o 1 L
>C=C + Ha > H F—* C‘:_"H”
H g l I
H I+



Physical Science (PSC 102) Fall 18 Dr. Hahn MWF 9 am Quiz IV form B 10/17 W Exam #

Name Z @ﬁ&/ Name

Sign Print (be I can’t read your signatures)

Please show work for full credit and partial credit on all questions

1. a. 1 mole of Mg=1l"”, %l grams (2 pts)

b. Imoleof MgF, = <>7”’ ; \ grams show work (2 pts) & A~ "’! /j
e -—_\%‘k‘m\:

2451+ 2019.00) = (2, ;,@liﬁw ~2)

c.  What is the molarity of a solution made by dissolving 1.2 moles of Na Cl in water to make up
2.1 Liters of the salt solution ? (Molarity = moles solute / liters of solution) (2 pts)

l2 8 WY 050 m makd -
21 e, Qe -y

%

2. Fill in the blank to match the structure & name. (A) benzene (B) Alkane (C)alkene (D) alkyne
(8 pts, 2 pts each blank)

HCS«—E—H ﬂb H—C=Cc—H ) @ f}: > =C<H C
H H
3. Draw the structure of 2,3,4-tribromopentane (pentane has 5 C, Br substituent is bromo) (3 pts)
S
L N
L > b
4. Show one constitutional isomer of the following molecule (3 pts) [ H

HHHHHY 258 o %7\ 4o ,
H—C— —C—H 8 carbon molecule ' . {
P ER R W C—C—c —c—c_¢/

Extra Credit (4 pts)

Show the product of the following reaction. ‘[,L lpt

R 4 0 S t— Qi“'“Ci"LL
HoW




Physical Science (PSC 102) Fall 18 Dr. Hohn MWF 11 am Quiz IV form A 10/17 W Exam #

Name I/ QAA Name
Sign ’ J Print (bc I can’t read your signatures)

Please show work for full credit and partial credit on all questions

; ; —/ . - ‘\\\\
I a.lmoleof S = )L ,0 lgrams (2 pts) M 2%/2/
b. 1moleof Na; S = l')? ) 0 l grams show work (2 pts) (f// “m

2(22,000 + 52,00+ qg@%ﬁ&a+cwnwg#»1/

¢. What is the molarity of a solution made by dissolving 2.5 moles of Na Cl in water to make up
3.2 Liters of the salt solution ? (Molarity = moles solute / liters of solutlon) (2 pts)

2 whMY g p  (atd - 1)

5,2 L

2. Fill in the blank to match the structure & name. (A) alkene (B) alkyne (C) benzene (D) Alkane
(8 pts, 2 pts each blank)

H—%‘E-H D mecu [ @ L §>c=<:<: i

3 Draw the structure oLf}_' 3,4—<Liimethylhexane (hexane has 6 C, methy] substituent is CHs3— ) (3 pts)
rt el < {‘l‘
' T %%

HfoC“C‘C*C—Qw\Lﬁﬁﬁﬂf\%f

| L
l+ H ”‘ l,L
4. Show one constitutional isomer of the following molecule 3 pts)
SELSSEEETS -
| — — — carbomn moiecule
H ﬁﬁﬁﬁ H-EHISIé %‘} 1r,Q/’“‘1‘[+ 17* 5.} 17L I Iﬁ

U —C — \
T I i S S L
: Hh’l—k[_rl* ['11
Extra Credit  (4pts) Show the product of the following reaction.
()
H—C=C—H + H > b= —c—}

l | -
oo




Physical Science (PSC 102) Fall 18 Dr. Hahn MWF 11 am Quiz IV form B 10/17 W Exam #

Name ] /\ LA Name
Sign v d Print (bc I can’t read your signatures)

Please show work for full credit and partial credit on all questions % Yeen

1. a. I moleof N= L 0l grams (2 pts) (2 :é_{’/ @"’VW ]L j\s\

b. I1moleof LizsN= 77 ?} grams show work (2 pts) ) TS
482 e bo~(
L) + 0= 34 ¥ ‘

e Lvtrg# —2/
¢. What is the molarity of a solution made by dissolving 3.6 ¢ T'in water to make up 1.2
Liters of the salt solution ? (Molarity = moles solute / liters of solution) (2 pts)

Py a (Mah —F7)
%@ - 5.0Mm =,

2. Fill in the blank to match the structure & name. (A) benzene (B) alkyne (C) Alkane (D) alkene
(8 pts, 2 pts each blank)

L - s P
H‘g-‘ KSI—H . mopam _ @ @ A H/C:Q\H D

L
3. Draw the structure of Z,S-dimethylbenzene (methy] substituent is CHs— ) (3 pts)

0y :? ;i = > n},
/‘YU“,Z C;t(ﬁ/;«,j:;?/’ == )

W _J/
4, Show one constitutional isome% of the follow1 pts)

P R HHHH .
H—Eﬁ—&—g—ﬁ—g{—}{ 7carbon‘ ;noleculfi:» %L c H}

(

e




